KURZEN VON BRUCHEN

Kirze die folgenden Briiche sooft Du kannst mit:

Kirze der
Reihe nach 2 2

mit ——»

12 6
24 12

120




Kirze die folgenden Briiche sooft Du kannst mit:

L OSUNG: KURZEN VON BRUCHEN

Kirze der
Reihe nach 2 2 2 3 3 5 5
mit ——»
12 6 3
24 12 6
4 2 1
'8 4 2
6 3 1
12 6 2
45 15 3
60 20 4
30 15 3
50 25 5
25 5 1
75 15 3
8 4 2 1
40 20 10 5 ' i i
60 30 15 5 1
120 60 30 10 2 )
15 5
60 20 4
18 9 3
24 12 4
18 9 3 1
36 18 6 2 -
9 3 1
72 24 '8
16 8 4 2
40 20 10 5
4 2 1
20 10 5
8 4 2
12 6 3
6 3
'8 4 i
10 5
12 6




